m

S
Q
~

L
19
£
0
S
o}
w
0
2
2
2
2

1

L10

L
=
<
[72)
»

(¢




86



87

PGSH Single Stage Dimensions PGSHEEEZSMEUR ~F[E

£ C9
g L1211 6
28T | 19
S 8 L 1 Q
i
2 3
L3| |L7 ek
L2 L8 c8
PGSH90/PGSH115
B L6, LS D2
T | Q co
] N g‘) ;g',_ $-
B 5 = 201 S S
: L9 20, st
L10 Q
Specifications #R1& Unit:mm
R~F Dimensions PGSH42 PGSH60 PGSH90 PGSH115
D1 60 90 115 135
D2 M5x0.8P M6x1.0P M8x1.25P M10x1.5P
D3 he 12 19 24 32
D4 g6 50 70 20 110
D5 16.7 20 30 45
D6 M4x0.7P M6x1.0P M8x1.25P M12x1.75P
D7 70 104 132 164
L1 52 78 98 120
L2 32 50 61 75
L3 10 17 18 14.5
L4 2 3 15 55
L5 16 25 32 40
L6 2 3 3 5
L7 10 12 18 18.5
L8 29 37.8 514 63.8
L9 4 4 45 6
L10 12 16.5 205 30
L11 285 355 407 53.8
L12 3 4 5 5
c1? 46 70 90 115
2?2 M4x0.7P M5x0.8P M6x1.0P M8x1.25P
c3’? <8/<11 <14/<19 <19/<24 <24/<32/<38
ca’ 26.5 37.6 414 51.3
€5 %rg 30 50 70 95
c6° 41 45 6 6
72 42 60 90 115
cs? 381 46.5 55.4 70
9?2 99.1 1343 167.8 208.8
B 4 6 8 10
13.5 215 27 35

* C1~CORNHIREREEERRT FARMEANFTERE. * C1~C9 are motor specific dimensions(metric std shown ),
Size may vary according to motor flange.
* KNS ARHEU EHBRBETRITEEAKITEA. * Specification subject to change without notice.

7= SESAME

www.sesamemotor.com



PLANETARY GEARHEADS

PGSH Double Stage Dimensions-1 PGSHEZESMIR T E-1

c9
[s2]
o w2z e
— hHH
S Ir i
ER= 1 ®s
Q&) 1 [— ! . Q
L
4 e 3
— ca s
L3 | |L7
L2 L8 cs
B
‘H‘ L6 L5
T 8
T g7
) L9
L10
Specifications #R1& Unit:mm
/2~ Dimensions PGSH42 PGSH60 PGSH90
D1 60 90 115
D2 M5x0.8P M6x1.0P M8x1.25P
D3 he 12 19 24
D4 g6 50 70 90
D5 16.7 20 30
D6 M4x0.7P M6x1.0P M8x1.25P
D7 70 104 132
L1 52 78 98
L2 32 50 61
L3 10 17 18
L4 2 3 15
L5 16 25 32
L6 2 3 3
L7 10 12 18
L8 56 70.8 95.4
L9 4 4 45
L10 12 16.5 205
L11 285 35.5 40.7
L12 3 4 5
c1? 46 70 90
22 M4x0.7P M5x0.8P M6x1.0P
c3? <8/<11 <14/<19 <19/<24
ca’? 26.5 37.6 414
C5%F6 30 50 70
C6° 41 45 6
c7? 42 60 90
c8? 381 46.5 55.4
C9? 126.1 167.3 211.8
B 4 6 8
H 13.5 215 27

oC7

* Cl~CIRARBREFEBERR T BRMEMANFERE.
* AREAEHE L EHBRIBETRIABEARTEA

* C1~C9 are motor specific dimensions(metric std shown ),

Size may vary according to motor flange.

* Specification subject to change without notice.

2 SESAME

www.sesamemotor.com

88



89|

PGSH Double Stage Dimensions-2 PGSHEEZSMNEIR ~F[E-2

@D4gs

:

=
=

I

L1209 oC7
= L11
] C6
\ i
2 PG
¢ . i Q —
! -t
— ™
v/
ca|©
L7
L8 C8
PGSH90T/PGSH115T o C9
8 L12 L11
Y F—.1.C6
[]: W
i q o
=l e &
9 1 ﬁL S
N =7 O
L3 L7 C4 |8

L8 C8

* C1~C9 are motor specific dimensions(metric std shown ),
Size may vary according to the motor flange chosen.
* Specification subject to change without notice.

Specifications #R1%& Unit:mm
R~f Dimensions PGSH60T PGSH90T PGSH115T

D1 90 115 135

D2 M6x1.0P M8x1.25P M10x1.5P
D3he 19 24 32
D4gs 70 90 110

D5 20 30 45

D6 M6x1.0P M8x1.25P M12x1.75P

D7 104 132 164

L1 78 98 120

L2 50 61 75

L3 17 18 145

L4 3 15 55

LS 25 32 40

L6 3 3 5

L7 12 18 18.6

L8 66.3 83.9 106.5

L9 4 4.5 6

L10 16.5 20.5 30
L11 285 35.5 407
L12 4 5 5

cil? 46 70 90
c2? M4x0.7P M5x0.8P M6x1.0P
32 <8/<11 <14/<19 <19/<24
ca? 26.5 376 414
€57k 30 50 70
c6? 4.1 4.5 6

7 42 60 90
c8? 381 46.5 55.4
c9? 154.4 1914 236.7

B 6 8 10

H 215 27 35

* CL~COR/ABIAESE B R R <, 35 Ik FT B AR S iR 2.
* RABE R B RAEET R B E RS TEA.,
S
7= SESAME

www.sesamemotor.com




PLANETARY GEARHEADS

PGSH Specifications Table PGSHHAEREHR

#i1& Specifications Sgtziie 7@;%2:, PGSH-42A | PGSH-42 PGSH-60 | PGSH-90 | PGSH-115 | PGSH-142
3 8 15 53 145 290 520
4 10 17 55 150 300 550
5 10 16 54 140 290 600
1 6 10 15 46 135 280 560
7 10 14 44 125 270 530
8 9 12 41 110 240 480
9 9 11 37 95 220 430
10 9 11 37 95 220 430
Si';?e BRI | pasH-a2a | pGSH-42 | pasr 60/ | POSHI0/ | pGsh 11T | pGSH-142T
. 15 8 15 53 145 290 520
Noﬁﬁﬁ%ﬁﬁ%rque N-m 20 10 17 55 150 300 550
25 10 16 54 140 290 600
30 10 16 54 140 290 600
35 10 16 54 140 290 600
40 10 16 54 140 290 600
2 45 10 16 54 140 290 600
50 10 16 54 140 290 600
60 10 15 46 135 280 560
70 10 14 a4 125 270 530
80 9 12 41 110 240 480
90 9 11 37 95 220 430
100 9 11 37 95 220 430
=N Tanot N-m 3.0fE%AEH 1 4 (3.0 times of Nominal Output Torque)
Emergency Stop Torque (* &AREmE A Max. Output Torque T2 =60% of Emergency Stop Torque)
Nfﬁﬁﬂfiﬁ 2’})2 - rpm | 1,2 | 3-100 | 4000 4000 4000 3000 3000 2500
%ﬁiﬁ}\i?& Nimax rom 12 3-100 8000 8000 8000 6000 6000 5000
ax. Input Speed
[ ) 1 3-10 <6 <6 <6 <6 <5 <5
Precision Backlash P1 arcmin 2 12-100 <8 <8 <8 <8 <7 <7
IEAERS B . 1 3-10 <8 <8 <8 <8 <7 <7
Standard Backlash P2 arcmin 2 12-100 <10 <10 <10 <10 <9 <9
& ] .
Tors?i%ial?giégidity /aNrcrrTn 12 | 3-100 25 25 6 12 23 50
TR N | 12 |3100 | 1120 1120 1720 2800 4600 8300
Mifiﬂiﬂﬁzﬁl N 12 3-100 520 520 830 1730 2950 4670
fEFRE Operating Temp. °C 3-100 -10°C~+90°C
fEEF=nService Life hr 3-100 20,000 (10,000/5&4&3E# Continuous operation)
W= o 1 3-10 > 97%
Efficiency ’ 2 [12-100 > 94%
E< K 1 3-10 0.6 0.6 13 3.5 7.8 16.1
Weight g 2 |12-100 0.9 0.9 2.0/1.6 5.6/3.9 9.5 19
Z#7F571@ Mounting Position - 12 3-100 £E75@ Any Direction
IR ENoise Level2  |dBA/Im| 12 | 3-100 s8 | s8 | 60 [ 63 | 65 67
i€ 4R Protection Class - 1.2 3-100 P65
B8 Lubrication - 12 3-100 £ 5 BB HAE Synthetic Lubricant
BRI EN 8 = Inertia(J1)
Ei% Stage JBLZREL Ratio Bz unit PGSH-42A | PGSH-42 PGSH-60 PGSH-90 | PGSH-115 | PGSH-142
3 0.03 0.03 023 097 235 10.00
4 0.02 0.02 0.18 067 1.66 7.17
1 5 0.02 0.02 0.17 065 150 6.52
6/7/8 0.02 0.02 0.14 0.60 145 6.17
9/10 Kg - cm? 0.02 0.02 0.14 0.58 141 6.10
Eh% Stage AR EE Ratio PGSH-42A | PGSH-42 | PGSH-60(T) | PGSH-90(T) | PGSH-115T | PGSH-142T
15/20/25 0.02 0.02 0.17(0.02) 0.65(0.17) 065 150
2 30/35/40 0.02 0.02 0.14(0.02) 0.60(0.14) 0.60 145
45/50/60/70/80/90/100 0.02 0.02 0.14(0.02) 0.58(0.14) 058 141

* 1. B8R 100rpm B - 1EAR & L E# S/ O0UE - Applied to the output shaft center @100rpm.
*2.3000rpm ZE& =8 - Measured at 3000 rpm with no load. These values are measured by gearbox with ratio = 10 (1-stage) or
ratio = 100 (2-stage) at nominal input speed or 3000 rpm (if nominal input speed is higher than 3000 rpm) with no load.
XKAN B FEEM EHBREETRFEEALTEA - The above figures/specifications are subject to change without prior notice.

Products due to human error, natural disasters or other factors lead to poor or damaged, will not be covered under warranty.
ERPAASREASIAKXERREHARNIEER  FERESEER -

7 SESAME | .

www.sesamemotor.com



